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However in Bohvel, it is two cubits - IR '3 D233 DA

Overview

oX1mw ruled that the requirement to distance a tree four X from 1720 77W is only
in PXw° yX (where the plow needed X"7), however in 922 where the plow is smaller,
distancing two NX is sufficient. MdO0IN reconciles our XA with a seemingly
contradictory X77a.

mooIn asks:
= 19P9P NP ) N3P 22 (3,29 97 oW 3,39 97 pY) NIODN NN 999N PI93T NN

It is astounding! for in 77295077 PR 951277 P95, regarding the ruling that if he bought

three trees he acquires the land between the trees -
= 25910 NNIYIT NYITa NN NT2IY G0 29 9INT

Where no1° 21 said there was a story in a ‘city of shepherds’, etc. -
= 3Wyn 711N Y2237 NN /T 13°¥2 99 YA32T DNNN YHYN

It seems from the X723 there that in Y22 we also require distancing X''7, for that
story in Xnw17 X117 took place in 922?!

MB0IN answers:
$INIYI NIND 19D NDYT NYWIINN DAY NN RIMIYIT XY NINNLT 901D 298

And it will be necessary to say that in that Xn1w=7 X7 they had a large plow
like in 3''R; however elsewhere in 922 the 7w nn was smaller.

Summary
There was sometimes a 7721 of X"7 even in H22.

Thinking it over
How much must one distance his tree in XMy7 XN72*

! The rule is if someone buys one or two trees, he only owns the tree but not the land. However if one buys three trees
he owns the land between the trees. The issue is how close (or far) do the trees need to be from each other in order to
receive ownership of the land as well. One opinion is that it must be between eight and sixteen nnK.

2 The case there was that the trees were closer than eight N12X between them (see footnote # 1), and nevertheless "
777 ruled that they receive the land as long as the distance between them is 1°931 722 X913 (the amount of space for
an ox and its utensils [plow, etc.]). 701 27, who heard this ruling from *"3 was unsure of the size of 1921 P2 X912,
However, when he learnt our m1wn (which requires X'"7) and the X072 (which stated that the X"7 is 07377 n712¥ >72), he
deduced that 1721 72 ®on is R"7.

3 According to 2X1w the size of 19931 72 X913 in 922 is only two nmnk. How did 7101 21 understand it to be X"7. Granted
that in °"X it is X"7, but not in 22

4 See X"2wN.
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